



University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036319	/ BAWANE ANUSHKA DEVIDAS SARIKA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		32+	11+	43		--	21+	21		27	6+	33		--	18+	18		25+	6+	31		--	22+	22		18.00 98.00
	2022016402192112	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.44 --
	(3)Andheri-(524)	58653				FEL103				58654				FEL104				FEL105								
		32+	11+	43		--	21+	37		32+	8+	40		--	22+	39		--	42+	42						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036325	/ SOMKULE KINJAL MAHNEDRA MANJUSHA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		32+	10+	42		--	20+	20		24	6+	30		--	21+	21		24+	6+	30		--	17+	17		18.00 96.50
	2023016400878306	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.36 --
	(3)Andheri-(524)	58653				FEL103				58654				FEL104				FEL105								
		32+	8+	40		--	19+	38		32	8+	40		--	21+	34		--	42+	42						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036327	/ YADAV SIMARAN MOHINDER RITA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		19F	12+	31		--	19+	19		24+	13+	37		--	18+	18		31+	11+	42		--	22+	22		-- --
	2022016402188691	3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
	(3)Andheri-(524)	58653				FEL103				58654				FEL104				FEL105								
		32+	8+	40		--	21+	37		32+	8+	40		--	21+	41		--	40+	40						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036339	/ DESHMUKH SHRAVANI SANJAYRAO VAISHALI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2023016402095532	22F	9+	31		--	20+	20		24+	14+	38		--	21+	21		28+	12+	40		--	20+	20		-- --
	(5)Thane-(17)	3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653				FEL103				58654				FEL104				FEL105								
		32+	10+	42		--	21+	41		32+	12+	44		--	17+	36		--	42+	42						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036340	DIVE TUSHAR MAYUR SANGITA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2023016402117487	36+	8+	44		--	18+	18		24	7+	31		--	19+	19		24+	8+	32		--	20+	20		18.00 100.50
	(5)Thane-(17)	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.58 --
		58653				FEL103				58654				FEL104				FEL105								
		32+	10+	42		--	21+	38		40+	8+	48		--	21+	41		--	39+	39						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036344	JADHAV OM ANAND CHHAYA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2023016402079073	34+	10+	44		--	17+	17		24+	6+	30		--	21+	21		24+	7+	31		--	20+	20		-- --
	(5)Thane-(17)	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653				FEL103				58654				FEL104				FEL105								
		24F	15+	39		--	18+	35		35+	9+	44		--	18+	37		--	46+	46						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1036348	KUMBHAR SANCHIT SUNIL VAISHALI 2022016402351976 (5)Thane-(17)	58651 32+ 3.00 P 4.00 12.00	8+ 40 4.00	40 12.00	FEC101 12+ 1.00 E 5.00	12 12 5.00	5.00 5.00	5.00	58652 24+ 2.00 P 4.00	8+ 32 4.00	8.00	8.00	FEL101 19+ 0.50 A 9.00	19 4.50	4.50	4.50	58655 26+ 2.00 P 4.00	7+ 33 8.00	8.00	8.00	FEL102 20+ 0.50 O 10.00	20 5.00	5.00	5.00	18.00 97.50 5.42 --	Successful	
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
1036356	CHODHARI ARYA PRAVIN ROHINI 2023016402097001 (5)Thane-(237)	58651 32+ 3.00 P 4.00	12+ 44 4.00	44 12.00	FEC101 21+ 1.00 O 10.00	21 21 10.00	10.00	58652 24+ 2.00 P 4.00	7+ 31 4.00	8.00	8.00	8.00	FEL101 16+ 0.50 C 7.00	16 3.50	3.50	3.50	58655 24+ 2.00 P 4.00	6+ 30 8.00	8.00	8.00	FEL102 19+ 0.50 A 9.00	19 4.50	4.50	4.50	-- --	Unsuccessful	
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1036357	NANDINI MAHENDRA DESAI MANSI 2023016402103166 (5)Thane-(237)	58651 25F 3.00 F 0.00	9+ 34 0.00	34 0.00	FEC101 22+ 1.00 O 10.00	22 22 10.00	10.00	58652 17F 2.00 F 0.00	6+ 23 0.00	23 0.00	0.00	0.00	FEL101 20+ 0.50 O 10.00	20 5.00	5.00	5.00	58655 31+ 2.00 E 5.00	6+ 37 10.00	10.00	10.00	FEL102 23+ 0.50 O 10.00	23 5.00	5.00	5.00	-- --	Unsuccessful	
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1036359	HARSHAL SAVITA 2023016402075872 (5)Thane-(237)	58651 32+	11+	43		FEC101 --	20+	20		58652 26+	6+	32		FEL101 --	16+	16		58655 24+	6+	30		FEL102 --	20+	20	Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 25F	11+	36		FEL103 --	14+	31		58654 32+	8+	40		FEL104 --	16+	32		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1036360	/ KRANTI VILAS GAIKWAD VIDYA 2023016402109484 (5)Thane-(237)	58651 33+	17+	50		FEC101 --	20+	20		58652 37	7+	44		FEL101 --	17+	17		58655 27	6+	33		FEL102 --	16+	16	Successful 18.00 105.00				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.83 --			
		58653 33+	11+	44		FEL103 --	16+	30		58654 33+	12+	45		FEL104 --	14+	28		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1036361	SWAYAM GAIKWAD SMITA 2023016402118297 (5)Thane-(237)	58651 34	10+	44		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	6+	30		FEL102 --	20+	20	Successful 18.00 97.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.42 --			
		58653 32+	10+	42		FEL103 --	14+	32		58654 40+	12+	52		FEL104 --	10+	20		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036369	VAIRAL SOHAM RAJENDRA SADHANA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		33	13+	46		--	21+	21		24+	9+	33		--	17+	17		24+	6+	30		--	13+	13		18.00 93.50
	2023016402091422	3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.19 --
	(5)Thane-(237)	58653				FEL103				58654				FEL104				FEL105								
		32+	9+	41		--	16+	27		32+	8+	40		--	13+	26		--	40+	40						
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036394	VAJE TANISH PRASHANT SANDHYA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		32+	8+	40		--	14+	14		24	7+	31		--	12+	12		24+	9+	33		--	20+	20		18.00 96.50
	2023016400737951	3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.36 --
	(5)Thane-(689)	58653				FEL103				58654				FEL104				FEL105								
		45+	12+	57		--	17+	29		32+	8+	40		--	21+	38		--	44+	44						
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036412	DANDGE VAISHNAVI BHUSHAN POOJA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		32E	11+	43		--	16+	16		28+	8E	36		--	16+	16		24+	9+	33		--	21+	21		-- --
	2023016400598041	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
	(12)Panvel-(124)	58653				FEL103				58654				FEL104				FEL105								
		36E	11+	47		--	18+	35		19F	14+	33		--	23+	42		--	42+	42						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1036416	TAYADE HARSH SUNIL SHILA 2023016400603303 (12) Panvel-(124)	58651 32+ 3.00 P	8+ 40 4.00	12.00 12.00	FEC101 16+ 7.00 C	16 16 7.00	58652 24+ 2.00 E	10+ 34 5.00	10.00 10.00	FEL101 17+ 0.50 C	17 17 7.00	58655 19F 2.00 F	6+ 25 0.00	25 25 0.00	FEL102 13+ 0.50 D	13 13 6.00	13 13 3.00	Unsuccessful -- -- -- --											
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1036417	THITETEJAS APPASAHEB SUNITA 2023016400614146 (12) Panvel-(124)	58651 26F 3.00 F	11+ 37 0.00	0.00 0.00	FEC101 16+ 7.00 C	16 16 7.00	58652 24E 2.00 P	7+ 31 4.00	8.00 8.00	FEL101 16+ 0.50 C	16 16 7.00	58655 24+ 2.00 P	6+ 30 4.00	30 30 8.00	FEL102 15+ 0.50 C	15 15 7.00	15 15 3.50	Unsuccessful -- -- -- --											
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1036424	MOHITE DEVDATTA SUDHAKAR SUHASINI 2022016402139957 (12) Panvel-(385)	58651 32+ 3.00 P	10+ 42 4.00	12.00 12.00	FEC101 16+ 7.00 C	16 16 7.00	58652 24+ 2.00 P	8+ 32 4.00	8.00 8.00	FEL101 19+ 0.50 A	19 19 9.00	58655 24+ 2.00 P	6+ 30 4.00	30 30 8.00	FEL102 22+ 0.50 O	22 22 10.00	22 22 5.00	Successful 18.00 94.50 5.25 --											
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036427	PATIL VRUSHBH BHIMRAO VAISHALI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2022016402143642	32+	8+	40		--	16+	16		24E	6+	30		--	18+	18		24+	7+	31		--	19+	19		-- --
	(12) Panvel-(385)	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653				FEL103				58654				FEL104				FEL105								
		25F	8+	33		--	18+	34		34+	11+	45		--	21+	38		--	26+	26						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	D	6.00	6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036441	ANIKET ASHUTOSH JAISWAR OM KUMARI	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2022016402306034	32+	10+	42		--	18+	18		24+	6+	30		--	16+	16		28+	6+	34		--	17+	17		18.00 86.00
	(30) Shahapur-(776)	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	4.78 --
		58653				FEL103				58654				FEL104				FEL105								
		32	8+	40		--	12+	30		32+	8+	40		--	12+	28		--	21+	21						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1036442	GHORPADE SAURABH ANILRAO RANJANA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2023016400930102	38+	8+	46		--	19+	19		28	10+	38		--	21+	21		31+	8+	39		--	22+	22		18.00 117.00
	(30) Shahapur-(945)	3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.50 --
		58653				FEL103				58654				FEL104				FEL105								
		32+	8+	40		--	21+	39		41+	13+	54		--	20+	41		--	42+	42						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036450	SINGH SUMIT VINODKUMAR POONAM SINGH 2023016402234556 (47)Bhayandar-(890)	58651 32+ 12+ 44 3.00 P 4.00 12.00	FEC101 19+ 19 1.00 A 9.00 9.00	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 22+ 22 0.50 O 10.00 5.00	58655 30+ 6+ 36 2.00 E 5.00 10.00	FEL102 20+ 20 0.50 O 10.00 5.00	Successful 18.00 96.00 5.33 --																		
		58653 32 8+ 40 3.00 P 4.00 12.00	FEL103 17+ 30 1.00 C 7.00 7.00	58654 32 8+ 40 3.00 P 4.00 12.00	FEL104 22+ 43 1.00 O 10.00 10.00	FEL105 27+ 27 6.00 6.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																			

Remark: REVALUATION

1036451	SINGH VAIBHAV SANJAY SUNAINA S SINGH 2023016402232712 (47)Bhayandar-(890)	58651 32+ 12+ 44 3.00 P 4.00 12.00	FEC101 21+ 21 1.00 O 10.00 10.00	58652 29+ 8+ 37 2.00 E 5.00 10.00	FEL101 22+ 22 0.50 O 10.00 5.00	58655 24+ 7+ 31 2.00 P 4.00 8.00	FEL102 22+ 22 0.50 O 10.00 5.00	Unsuccessful -- -- -- --
		58653 32+ 8+ 40 3.00 P 4.00 12.00	FEL103 21+ 40 1.00 O 10.00 10.00	58654 27F 8+ 35 3.00 F 0.00 0.00	FEL104 22+ 43 1.00 O 10.00 10.00	FEL105 37+ 37 8.00 8.00	Total Credit -- FINAL CGPI -- FINAL GRADE --	

Remark: REVALUATION

1036457	MEDHANSH VARSHA 2022016402244557 (76)Navi Mumbai-(426)	58651 2F 9+ 11 3.00 F 0.00 0.00	FEC101 13+ 13 1.00 D 6.00 6.00	58652 24E 6+ 30 2.00 P 4.00 8.00	FEL101 20+ 20 0.50 O 10.00 5.00	58655 25+ 6+ 31 2.00 P 4.00 8.00	FEL102 14+ 14 0.50 D 6.00 3.00	Unsuccessful -- -- -- --
		58653 3F 9+ 12 3.00 F 0.00 0.00	FEL103 14+ 26 1.00 D 6.00 6.00	58654 9F 8+ 17 3.00 F 0.00 0.00	FEL104 12+ 29 1.00 D 6.00 6.00	FEL105 38+ 38 9.00 9.00	Total Credit -- FINAL CGPI -- FINAL GRADE --	

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036470	MANGE KIRTAN PRAVIN JAYSHREE 2023016400721886 (76)Navi Mumbai-(428)	58651 32+ 3.00 P 4.00 12.00	8+	40	FEC101 19+ 1.00 A 9.00 9.00	19	19	58652 16F 2.00 F 0.00 0.00	6+	22	FEL101 23+ 0.50 O 10.00 5.00	23	158655 9F 2.00 F 0.00 0.00	6+	15	FEL102 17+ 0.50 C 7.00 3.50	17	Unsuccessful -- -- -- --								
		58653 32+ 3.00 E 5.00 15.00	14+	46	FEL103 19+ 1.00 D 6.00 6.00	29	29	58654 32+ 3.00 P 4.00 12.00	8+	40	FEL104 14+ 1.00 D 6.00 6.00	25	FEL105 34+ 1.00 C 7.00 7.00	34												
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1036483	ANKAWALLA UJWAL PRADEEP SMITA 2023016400738037 (97)BORIVALI-(531)	58651 17F 3.00 F 0.00 0.00	8+	25	FEC101 11+ 1.00 P 4.00 4.00	11	11	58652 24E 2.00 P 4.00 8.00	8+	32	FEL101 19+ 0.50 A 9.00 4.50	19	158655 2F 2.00 F 0.00 0.00	6+	8	FEL102 13+ 0.50 D 6.00 3.00	13	Unsuccessful -- -- -- --								
		58653 35+ 3.00 P 4.00 12.00	8+	43	FEL103 14+ 1.00 D 6.00 6.00	29	29	58654 32E 3.00 P 4.00 12.00	8+	40	FEL104 18+ 1.00 B 8.00 8.00	35	FEL105 35+ 1.00 B 8.00 8.00	35												
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1036492	AYUSH PRAKASH KARNATAKI YOGINI 2022016402407746 (152)kumbhivali-(990)	58651 32+ 3.00 P 4.00 12.00	10+	42	FEC101 12+ 1.00 E 5.00 5.00	12	12	58652 25+ 2.00 E 5.00 10.00	9+	34	FEL101 18+ 0.50 B 8.00 4.00	18	158655 24 2.00 P 4.00 8.00	7+	31	FEL102 19+ 0.50 A 9.00 4.50	19	Successful 18.00 96.50 5.36 --								
		58653 33 3.00 E 5.00 15.00	13+	46	FEL103 13+ 1.00 D 6.00 6.00	26	26	58654 46 3.00 D 6.00 18.00	11+	57	FEL104 21+ 1.00 A 9.00 9.00	39	FEL105 24+ 1.00 E 5.00 5.00	24												
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1036498	DAMODARE VISHWADIP MAHENDRA VARSHA 2023016402244574 (3)Andheri-(532)	58651 26F 3.00 F 0.00 0.00	8+	34	26F	17+	17	7.00 7.00	1.00 C	58652 25+ 2.00 P 4.00 8.00	6+	31	25+	6+	3.00	1.00 D	58655 24+ 2.00 P 4.00 8.00	6+	30	24+	6+	8.00 4.00	1.00 B	18 18	Unsuccessful -- --		
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1036501	KHADSE YASH SUDAM JAYSHREE 2023016402239236 (3)Andheri-(532)	58651 32+ 3.00 P 4.00 12.00	8+	40	32+	16+	16	7.00 7.00	1.00 C	58652 19F 2.00 F 0.00 0.00	8+	27	19F	8+	3.50	1.00 C	58655 29+ 2.00 E 5.00 10.00	6+	35	29+	6+	10.00 10.00	1.00 O	20 20	Unsuccessful -- --		
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1036506	PATEL DARSHAN KAMLESH RASHMI 2023016402239097 (3)Andheri-(532)	58651 32 3.00 P 4.00 12.00	8+	40	32	18+	16	7.00 7.00	1.00 C	58652 30+ 2.00 D 6.00 12.00	9+	39	30+	9+	5.00	1.00 O	58655 28+ 2.00 E 5.00 10.00	9+	37	28+	9+	10.00 5.00	1.00 O	23 23	Successful 18.00 101.00		
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1036509	PATOLE DARSHAN BHARAT MANISHA 2023016402242366 (3)Andheri-(532)	58651 35+	8+	43		FEC101 16+	16			58652 24+	7+	31		FEL101 19+	19		58655 29+	8+	37		FEL102 21+	21		Unsuccessful -- --		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 37+	10+	47		FEL103 19+	38			58654 16F	13+	29		FEL104 21+	37		FEL105 42+	42								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

1036510	SALVI VIPUL SUNIL SAURABHI 2023016402240487 (3)Andheri-(532)	58651 44E	8+	52		FEC101 16+	16			58652 24E	9+	33		FEL101 20+	20		58655 24+	10+	34		FEL102 22+	22		Unsuccessful -- --		
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 22F	9+	31		FEL103 18+	36			58654 13F	8+	21		FEL104 21+	39		FEL105 36+	36								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

1036512	YADAV SUPRIYA PHOOLCHAND GEETA 2023016402242037 (3)Andheri-(532)	58651 32	8+	40		FEC101 19+	19			58652 35	9+	44		FEL101 19+	19		58655 24+	9+	33		FEL102 19+	19		Successful 18.00 108.00		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	6.00 --
		58653 33	13+	46		FEL103 21+	42			58654 32+	15+	47		FEL104 20+	36		FEL105 42+	42								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

